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Volume of solids - Answers

1. Find the volume of a pyramid of height 4 whose base is an equilateral triangle of length L
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2. Find the volume of the solid whose base is a disk of radius r and whose cross-sections are squares. See

figure below to see a sketch of the cross-sections.
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3. Find the volume of the solid whose base is the region bounded by x =2 — y* and x = y* — 2

and whose cross-sections are isosceles triangles with the base perpendicular to the

y-axis and the angle between the base and the two sides of equal length is %- See figure below to see a

sketch of the cross-sections.

x=2-¥

Vi 64,2

3 15

V2 . 4 1
V:f 14—y +y' dy= (4y 3y+ y)

www.mathssupport.org



http://www.mathssupport.org/

